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QUESTION 1

The following definition for COL1 is given by this statement:

CREATE TABLE... (COL1 BINARY (05))

Which of the following statements will successfully insert data into the table?
A. INSERT INTO... (COL1) VALUES(HEX('12345\\"));

B. INSERT INTO... (COL1) VALUES(BLOB('12345\\"));

C. INSERT INTO... (COL1) VALUES(CHAR('12345\\"));

D. INSERT INTO... (COL1) VALUES(BINARY/('123456\\));

Correct Answer: C

QUESTION 2

A summary table can be easily maintained using which of the following?
A. An auxiliary table

B. A patrtitioned table

C. A bi-temporal table

D. A materialized query table

Correct Answer: D

Reference: http://www.informit.com/articles/article.aspx?p=2755707andseqNum=3

QUESTION 3

Which of the following can be defined on the basis of a query?
A. An alias

B. A base table

C. An accelerator-only table

D. A materialized query table

Correct Answer: D

Reference: https://www.ibm.com/developerworks/data/library/techarticle/dm-0509melnyk/
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QUESTION 4

A view is considered read only if which of the following is TRUE?

A. The first FROM clause identifies only one table

B. The outer fullselect contains an ORDERED BY clause

C. The first SELECT clause specifies the DISTINCT option

D. The fullselect includes a column of a base table that is defined as implicitly hidden
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0052327.html

QUESTION 5

Which catalog table contains the IN, OUT and INOUT parameters used in a stored procedure?
A. SYSIBM.SYSSTMT

B. SYSIBM.SYSPARMS

C. SYSIBM.SYSROUTINES

D. SYSIBM.SYSVARIABLES

Correct Answer: B
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